

ACTA UNIV. SAPIENTIAE, MATHEMATICA, 10, 2 (2018) 276-286

DOI: 10.2478/ausm-2018-0021

Some sufficient conditions for certain class of meromorphic multivalent functions involving Cho-Kwon-Srivastava operator

S. K. Mohapatra Department of Mathematics, School of Applied Sciences, KIIT Deemed to be University, Odisha, India email: susanta.k.mohapatra1978@gmail.com T. Panigrahi Department of Mathematics, School of Applied Sciences, KIIT Deemed to be University, Odisha, India email: trailokyap6@gmail.com

Abstract. Making use of a meromorphic analogue of the Cho-Kwon-Srivastava operator for normalized analytic functions, we introduce below a new class of meromorphic multivalent function in the punctured unit disk and obtain certain sufficient conditions for functions to belong to this class. Some consequences of the main result are also mentioned.

1 Introduction and motivation

Let \sum_{p} denote the class of functions of the form:

$$f(z) = \frac{1}{z^{p}} + \sum_{k=1}^{\infty} a_{k-p} z^{k-p} \quad (p \in \mathbb{N} := \{1, 2, 3, \dots\})$$
(1)

which are analytic in the punctured unit disk:

$$\mathbb{U}^* := \{z : z \in \mathbb{C}, 0 < |z| < 1\} = \mathbb{U} \setminus \{0\},\$$

²⁰¹⁰ Mathematics Subject Classification: 30C45

Key words and phrases: meromorphic multivalent function, starlike function, convex function, close-to-convex function, Jack's lemma, Cho-Kwon-Srivastava operator

For functions $f\in \sum_p$ given by (1) and $g\in \sum_p$ given by

$$g(z) = \frac{1}{z^{p}} + \sum_{k=1}^{\infty} b_{k-p} z^{k-p} \quad (z \in \mathbb{U}^{*}),$$
(2)

we define f * g by

$$(f * g)(z) := \frac{z^{p} f(z) * z^{p} g(z)}{z^{p}} =: \frac{1}{z^{p}} + \sum_{k=1}^{\infty} a_{k-p} b_{k-p} z^{k-p} = (g * f)(z) \quad (z \in \mathbb{U}^{*}),$$
(3)

where * denotes the usual Hadamard product(or convolution) of analytic functions.

Let $\sum_{p}^{*}(\alpha)$, $\sum_{p}^{k}(\alpha)$ and $\sum_{p}^{c}(\alpha)$ be the subclasses of the class \sum_{p} consists of meromorphic multivalent functions which are respectively starlike, convex and close-to-convex functions of order α ($0 \leq \alpha < p$).

Analytically, a function $f\in \sum_p$ is said to be in the class $\sum_p^*(\alpha)$ if and only if

$$\Re\left[-\frac{zf'(z)}{f(z)}\right] > \alpha \quad (z \in \mathbb{U}^*).$$
(4)

Similarly, a function $f\in \sum_p$ is said to be in the class $\sum_p^k(\alpha)$ if and only if

$$\Re\left[-1 - \frac{zf''(z)}{f'(z)}\right] > \alpha \quad (z \in \mathbb{U}^*).$$
(5)

Furthermore, a function $f\in \sum_p^c(\alpha)$ if and only if f is of the form (1) and satisfies

$$\Re\left[-\frac{f'(z)}{z^{-p-1}}\right] > \alpha \quad (z \in \mathbb{U}^*).$$
(6)

We observe that $\sum_{1}^{*}(\alpha) := \sum_{k}^{*}(\alpha)$, $\sum_{1}^{k}(\alpha) := \sum_{k}(\alpha)$, $\sum_{1}^{c}(\alpha) := \sum_{c}(\alpha)$ where $\sum_{k}^{*}(\alpha)$, $\sum_{k}(\alpha)$ and $\sum_{c}(\alpha)$ are subclasses of \sum consisting of meromorphic univalent functions which are respectively starlike, convex and close-toconvex of order α ($0 \le \alpha < 1$). For recent expository work on meromorphic functions see([5, 7, 11, 14, 16]).

For the purpose of defining transform, Liu and Srivastava [7] studies meromorphic analogue of the Carlson-Shaffer operator [1] by introducing the function $\phi_p(\mathfrak{a}, \mathfrak{c}; z)$ given by

$$\Phi_{p}(a,c;z) := \frac{{}_{2}F_{1}(a,1;c;z)}{z^{p}} =: \frac{1}{z^{p}} + \sum_{k=1}^{\infty} \frac{(a)_{k}}{(c)_{k}} z^{k-p},$$

$$(z \in \mathbb{U}^{*}; a \in \mathbb{C}, c \in \mathbb{C} \setminus \mathbb{Z}_{0}^{-}, \mathbb{Z}_{0}^{-} := \{0,1,2,\cdots\})$$
(7)

where ${}_{2}F_{1}(a, 1; c; z)$ is the Gauss hypergeometric series and $(\lambda)_{n}$ is the *Pochhammer symbol* (or shifted factorial) given by

$$(\lambda)_{n} := \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)} = \begin{cases} 1 & (n = 0) \\ \lambda(\lambda + 1)...(\lambda + n - 1) & (n \in \mathbb{N}). \end{cases}$$

Recently, Mishra et al. [9] (also see [10]) defined the function $\phi_p^{\dagger}(a, c; z)$, the generalized multiplicative inverse of $\phi_p(a, c; z)$ given by the relation

$$\phi_{\mathfrak{p}}(\mathfrak{a}, \mathfrak{c}; z) * \phi_{\mathfrak{p}}^{\dagger}(\mathfrak{a}, \mathfrak{c}; z) = \frac{1}{z^{\mathfrak{p}}(1-z)^{\lambda+\mathfrak{p}}} \quad (\mathfrak{a}, \mathfrak{c} \in \mathbb{C} \setminus \mathbb{Z}_{0}^{-}, \lambda > -\mathfrak{p}, z \in \mathbb{U}^{*}).$$
(8)

If $\lambda = -p + 1$, then $\phi_p^{\dagger}(a, c; z)$ is the inverse of $\phi_p(a, c; z)$ with respect to the Hadamard product *. Using this function $\phi_p(a, c; z)$, they considered an operator $\mathcal{L}_p^{\lambda}(a, c) : \sum_p \longrightarrow \sum_p$ as follows:

$$\mathcal{L}_{p}^{\lambda}(a,c)f(z) := \phi_{p}^{\dagger}(a,c;z) * f(z) = \frac{{}_{2}F_{1}(\lambda+p,c;a;z)}{z^{p}} = \frac{1}{z^{p}} + \sum_{k=1}^{\infty} \frac{(\lambda+p)_{k}(c)_{k}}{(a)_{k}(1)_{k}} a_{k-p} z^{k-p} \quad (z \in \mathbb{U}^{*}).$$
⁽⁹⁾

The holomorphic version of the function $\phi_{p}^{\dagger}(a,c;z)$ is given by the relation:

$$z^{p}{}_{2}\mathsf{F}_{1}(\mathfrak{a},1;\mathfrak{c};z)*\varphi_{p}^{\dagger}(\mathfrak{a},\mathfrak{c};z):=\frac{z^{p}}{(1-z)^{\lambda+p}}\quad (\mathfrak{a},\mathfrak{c}\in\mathbb{C}\setminus\mathbb{Z}_{0}^{-},\lambda>-p;z\in\mathbb{U}),$$

and the associated transform $\mathcal{L}_{p}^{\lambda}(a,c)f(z) = \phi_{p}^{\dagger}(a;c;z) * f(z)$ were studied by Cho et al. [2]. The transform $\mathcal{L}_{p}^{\lambda}(a,c)$ is popularly known as the Cho-Kwon-Srivastava operator in literature (see, for details [4, 12, 15]).

Recently, Prajapat [13] (also see [3]) introduced a class of analytic and multivalent function $\mathbb{B}(\mathbf{p}, \mathbf{n}, \mu, \alpha)$ and investigated some sufficient conditions for this class. Furthermore, Goyal and Prajapat [5] introduced the class $\mathcal{T}_{\mathbf{p}}(\lambda, \mu, \alpha)$ by making use of an extended derivative operator of Ruscheweyh type and investigated some sufficient conditions for a certain function to belong to this class.

Motivated by the aforementioned work, in this paper the authors introduce a new class $\mathcal{T}_{p}^{\lambda,\alpha}(\mu, \mathfrak{a}, \mathfrak{c})$ by making use of a meromorphic analogue of Cho-Kwon-Srivastava operator $\mathcal{L}_{p}^{\lambda}(\mathfrak{a},\mathfrak{c})$ for normalized multivalent analytic function as follows:

Definition 1 A function $f \in \sum_{p}$ is said to be in the class $\mathcal{T}_{p}^{\lambda,\alpha}(\mu, \mathfrak{a}, \mathfrak{c})$ if it satisfies the following condition:

$$\left| \frac{z^{p+1} \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z) \right)'}{\left(z^{p} \mathcal{L}_{p}^{\lambda}(a,c)f(z) \right)^{\mu-1}} + p \right|
$$(10)$$

$$(z \in \mathbb{U}^{*}, \ p \in \mathbb{N}, \ \lambda > -p, \ \mu \ge 0, \ 0 \le \alpha < p, \ a, \ c \in \mathbb{C} \setminus \mathbb{Z}_{0}^{-})$$$$

The condition (10) implies that

$$\Re\left\{-\frac{z^{p+1}(\mathcal{L}_{p}^{\lambda}(a,c)f(z))'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)^{\mu-1}}\right\} > \alpha$$
(11)

It is clear from the above definition that

 $\mathcal{T}_p^{-p+1,\alpha}(2, a, a) = \sum_p^*(\alpha) \text{ and } \mathcal{T}_p^{-p+1,\alpha}(1, a, a) = \sum_p^c(\alpha).$ In the present paper, we obtain certain sufficient conditions for functions f to be in the class $\mathcal{T}_{\mathfrak{v}}^{\lambda,\alpha}(\mu,\mathfrak{a},\mathfrak{c})$.

We need the following lemma for our investigation.

Lemma 1 (see [6, 8]) Let the function w(z) be non-constant and regular in \mathbb{U} such that w(0) = 0. If |w(z)| attains its maximum value on the circle |z| = r < 1at a point $z_0 \in \mathbb{U}$, then

$$z_0w'(z_0)=kw(z_0),$$

where k is real and $k \ge 1$.

$\mathbf{2}$ Main results

Unless otherwise stated, we mention throughout the sequel that

$$p \in \mathbb{N}, \ \mu \ge 0, \ \lambda > -p, \ a, \ c \in \mathbb{C} \setminus \mathbb{Z}_0^-, \ 0 \le \alpha < p$$

Theorem 1 If $f \in \sum_{p}$ given by (1) satisfies anyone of the following inequalities:

$$\left| -\frac{z^{p+1} \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)^{\mu-1}} \left[1+p+\frac{z \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)''}{\left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'} -\left(\mu-1\right) \left\{ p+\frac{z \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(a,c)f(z)} \right\} \right] \right| < p-\alpha,$$

$$(12)$$

$$\left|\frac{1+p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)''}{\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}-(\mu-1)\left\{p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)}\right\}}{-\frac{z^{p+1}\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)^{\mu-1}}}\right| < \frac{p-\alpha}{(2p-\alpha)^{2}}, \quad (13)$$

$$\left|\frac{1+p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)''}{\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}-(\mu-1)\left\{p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)}\right\}}{-\left[\frac{z^{p+1}\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)^{\mu-1}}+p\right]}\right|<\frac{1}{2p-\alpha},\qquad(14)$$

and

$$\Re\left[\frac{z^{p+1}\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)^{\mu-1}}\left\{\frac{1+p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)''}{\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}-(\mu-1)\left(p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)}\right)}{\frac{z^{p+1}\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)''}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)^{\mu-1}}+p}\right\}\right]<1,$$
(15)

then $f \in \mathcal{T}_p^{\lambda,\alpha}(\mu, \mathfrak{a}, c)$.

Proof. Let $f(z) \in \sum_{p}$ be given by (1). Define the function w(z) by

$$-\frac{z^{p+1}\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},\mathbf{c})f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(\mathfrak{a},\mathbf{c})f(z)\right)^{\mu-1}}=p+(p-\alpha)w(z).$$
(16)

Clearly w(z) is analytic in U with w(0) = 0. Taking logarithmic differentiation on both sides of (16) with respect to z, we obtain

$$1+p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)''}{(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z))'}-(\mu-1)\left\{p+\frac{z\left(\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(\mathfrak{a},c)f(z)}\right\}=\frac{(p-\alpha)zw'(z)}{p+(p-\alpha)w(z)}.$$
(17)

From (16) and (17), we have

$$\begin{split} \varphi_{1}(z) &= -\frac{z^{p+1} \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)^{\mu-1}} \left[1 + p + \frac{z \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)''}{\left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'} - \left(\mu - 1\right) \left\{p + \frac{z \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(a,c)f(z)}\right\}\right] = (p - \alpha)zw'(z), \end{split}$$
(18)

$$\Phi_{2}(z) = \frac{1 + p + \frac{z(\mathcal{L}_{p}^{\lambda}(a,c)f(z))''}{(\mathcal{L}_{p}^{\lambda}(a,c)f(z))'} - (\mu - 1) \left\{ p + \frac{z(\mathcal{L}_{p}^{\lambda}(a,c)f(z))'}{\mathcal{L}_{p}^{\lambda}(a,c)f(z)} \right\}}{-\frac{z^{p+1}(\mathcal{L}_{p}^{\lambda}(a,c)f(z))'}{(z^{p}\mathcal{L}_{p}^{\lambda}(a,c)f(z))^{\mu - 1}}}$$
(19)

$$= \frac{(p-\alpha)zw'(z)}{[p+(p-\alpha)w(z)]^2},$$

$$\phi_3(z) = \frac{1+p + \frac{z(\mathcal{L}_p^{\lambda}(a,c)f(z))''}{(\mathcal{L}_p^{\lambda}(a,c)f(z))'} - (\mu-1)\left\{p + \frac{z(\mathcal{L}_p^{\lambda}(a,c)f(z))'}{\mathcal{L}_p^{\lambda}(a,c)f(z)}\right\}}{-\left[\frac{z^{p+1}(\mathcal{L}_p^{\lambda}(a,c)f(z))'}{(z^p\mathcal{L}_p^{\lambda}(a,c)f(z))^{\mu-1}} + p\right]}$$
(20)
$$= \frac{zw'(z)}{w(z)[p+(p-\alpha)w(z)]},$$

and

$$\Phi_{4}(z) = \frac{z^{p+1} \left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)^{\mu-1}} \frac{1+p + \frac{z\left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)''}{\left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'} - (\mu-1) \left\{p + \frac{z\left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\mathcal{L}_{p}^{\lambda}(a,c)f(z)}\right\}}{\left[\frac{z^{p+1}\left(\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(a,c)f(z)\right)^{\mu-1}} + p\right]}$$
$$= \frac{zw'(z)}{w(z)}.$$
(21)

Now we claim that |w(z)| < 1 in U. For otherwise there exists a point $z_0 \in \mathbb{U}$ such that

$$\max_{|z| < |z_0|} |w(z)| = |w(z_0)| = 1.$$
(22)

Then from Lemma 1 we find that

$$z_0 w'(z_0) = k w(z_0) \quad (k \ge 1).$$
 (23)

Therefore, letting $w(z_0) = e^{i\theta}$ in each of the equation (18) to (21), we obtain

$$|\phi_1(z_0)| = |(p - \alpha)z_0w'(z_0)| = |(p - \alpha)ke^{i\theta}| \ge (p - \alpha),$$
(24)

$$\Phi_{2}(z_{0})| = \left| \frac{(p-\alpha)z_{0}w'(z_{0})}{[p+(p-\alpha)w(z_{0})]^{2}} \right| = \frac{|(p-\alpha)ke^{i\theta}|}{|p+(p-\alpha)e^{i\theta}|^{2}} \ge \frac{(p-\alpha)}{(2p-\alpha)^{2}}, \quad (25)$$

$$|\phi_{3}(z_{0})| = \left| \frac{z_{0}w'(z_{0})}{w(z_{0})[p + (p - \alpha)w(z_{0})]} \right|$$

$$| k | z_{0} | 1$$
(26)

$$= \left| \frac{1}{[p + (p - \alpha)e^{i\theta}]} \right| \ge \frac{1}{2p - \alpha},$$

$$\Re\{\phi_4(z_0)\} = \Re\left\{ \frac{z_0 w'(z_0)}{w(z_0)} \right\} = k \ge 1,$$
(27)

which contradicts our assumption (12) to (15), respectively. Therefore, |w(z)| < 1 holds true for all $z \in \mathbb{U}$. Then (16) we have

$$\left|\frac{z^{p+1}(\mathcal{L}_{p}^{\lambda}(\mathfrak{a}, \mathbf{c})f(z))'}{\left(z^{p}\mathcal{L}_{p}^{\lambda}(\mathfrak{a}, \mathbf{c})f(z)\right)^{\mu-1}} + p\right| = \left|(p-\alpha)w(z)\right| < (p-\alpha)$$

which implies that

$$f \in \mathcal{T}_p^{\lambda,\alpha}(\mu, \mathfrak{a}, \mathfrak{c}).$$

3	Consequences	of	main	result	;
	L				

Putting a = c, $\lambda = -p + 1$, $\mu = 1$ in Theorem 1, we get the following result: **Corollary 1** Let the function f(z) defined by (1) belong to the class \sum_{p} . If f(z) satisfies any one of the following inequalities:

$$\begin{split} \left| -\frac{f'(z)}{z^{-p-1}} \left(1 + p + \frac{zf''(z)}{f'(z)} \right) \right| &$$

and

$$\Re\left\{\frac{-\frac{f'(z)}{z^{-p-1}}\left(1+p+\frac{zf''(z)}{f'(z)}\right)}{-\frac{f'(z)}{z^{-p-1}}-p}\right\} < 1,$$

then $f(z) \in \sum_{p=1}^{c} (\alpha)$.

Letting p = 1 in Corollary 1 we obtain the following result.

Corollary 2 If $f(z) \in \sum$ satisfies any one of the following inequalities:

$$\begin{aligned} \left| -\frac{f'(z)}{z^{-2}} \left(2 + \frac{zf''(z)}{f'(z)} \right) \right| &< 1 - \alpha, \\ \left| \frac{2 + \frac{zf''(z)}{f'(z)}}{-\frac{f'(z)}{z^{-2}}} \right| &< \frac{1 - \alpha}{(2 - \alpha)^2}, \\ \left| \frac{2 + \frac{zf''(z)}{f'(z)}}{-\frac{f'(z)}{z^{-2}} - 1} \right| &< \frac{1}{2 - \alpha}, \end{aligned}$$

and

$$\Re\left\{-\frac{f'(z)}{z^{-2}}\left(\frac{2+\frac{zf''(z)}{f'(z)}}{-\frac{f'(z)}{z^{-2}}-1}\right)\right\} < 1,$$

then $f(z) \in \sum_{c} (\alpha)$.

Further in the special case when $\alpha = 0$, Corollary 2 reduces to Corllary 3 stated below:

Corollary 3 If $f(z) \in \sum$ satisfies anyone of the following inequalities:

$$\left| -z^{2} f'(z) \left(2 + \frac{z f''(z)}{f'(z)} \right) \right| < 1,$$

$$\left| -\frac{2 + \frac{z f''(z)}{f'(z)}}{z^{2} f'(z)} \right| < \frac{1}{4},$$

$$\left| -\frac{2 + \frac{z f''(z)}{f'(z)}}{z^{2} f'(z) + 1} \right| < \frac{1}{2},$$

and

$$\Re\left\{\left(2+\frac{z\mathsf{f}''(z)}{\mathsf{f}'(z)}\right)\frac{z^2\mathsf{f}'(z)}{z^2\mathsf{f}'(z)+1}\right\}<1,$$

then $f(z) \in \sum_{c} (\equiv \sum_{c} (0)).$

Letting a = c, $\lambda = -p + 1$, $\mu = 2$ in Theorem 12, we obtain the following:

Corollary 4 If $f \in \sum_{p}$ given by (1) satisfies anyone of the following inequalities:

$$\begin{split} \left| -\frac{zf'(z)}{f(z)} \left(1 + \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)} \right) \right| &$$

and

$$\Re\left\{\frac{zf'(z)}{f(z)}\left(\frac{1+\frac{zf''(z)}{f'(z)}-\frac{zf'(z)}{f(z)}}{\frac{zf'(z)}{f(z)}+p}\right)\right\}<1,$$

then $f(z) \in \sum_{p=0}^{\infty} (\alpha)$.

By putting p = 1 in Corollary 4, we have

Corollary 5 If $f \in \sum$ satisfies anyone of the following inequalities:

$$\begin{split} \left| -\frac{zf'(z)}{f(z)} \left(1 + \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)} \right) \right| &< 1 - \alpha, \\ \left| -\frac{f(z)}{zf'(z)} \left(1 + \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)} \right) \right| &< \frac{1 - \alpha}{(2 - \alpha)^2}, \\ & \left| \frac{1 + \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)}}{-\frac{zf'(z)}{f(z)} - 1} \right| &< \frac{1}{2 - \alpha}, \end{split}$$

and

$$\Re\left\{\frac{zf'(z)}{f(z)}\left(\frac{1+\frac{zf''(z)}{f'(z)}-\frac{zf'(z)}{f(z)}}{\frac{zf'(z)}{f(z)}+1}\right)\right\}<1,$$

then $f(z) \in \sum^{*}(\alpha)$.

On further setting $\alpha = 0$ in Corollary 5, we get:

Corollary 6 If $f(z) \in \sum$ satisfies any one of the following inequalities:

$$\left|-\frac{z\mathsf{f}'(z)}{\mathsf{f}(z)}\left(1+\frac{z\mathsf{f}''(z)}{\mathsf{f}'(z)}-\frac{z\mathsf{f}'(z)}{\mathsf{f}(z)}\right)\right|<1,$$

$$\begin{aligned} \left| -\frac{\mathsf{f}(z)}{z\mathsf{f}'(z)} \left(1 + \frac{z\mathsf{f}''(z)}{\mathsf{f}'(z)} - \frac{z\mathsf{f}'(z)}{\mathsf{f}(z)} \right) \right| &< \frac{1}{4}, \\ & \left| \frac{1 + \frac{z\mathsf{f}''(z)}{\mathsf{f}'(z)} - \frac{z\mathsf{f}'(z)}{\mathsf{f}(z)}}{-\frac{z\mathsf{f}'(z)}{\mathsf{f}(z)} - 1} \right| &< \frac{1}{2}, \\ \mathfrak{R} \left\{ \frac{z\mathsf{f}'(z)}{\mathsf{f}(z)} \left(\frac{1 + \frac{z\mathsf{f}''(z)}{\mathsf{f}'(z)} - \frac{z\mathsf{f}'(z)}{\mathsf{f}(z)}}{\frac{z\mathsf{f}'(z)}{\mathsf{f}(z)} + 1} \right) \right\} < 1, \end{aligned}$$

then $f(z) \in \sum^*$.

Acknowledgement

The authors would like to thank to the editor and anonymous referees for their comments and suggestions which improve the contents of the manuscript. Further, the present investigation of the second-named author is supported by CSIR research project scheme no: 25(0278)/17/EMR-II, New Delhi, India.

References

- B. C. Carlson, D. B. Shaffer, Starlike and pre-starlike hypergeometric functions, SIAM J. Math. Anal., 15 (1984) 737–745.
- [2] N. E. Cho, O. S. Kwon, H. M. Srivastava, Inclusion relationships and argument properties for certain subclasses of multivalent functions associated with a family of linear operators, J. Math. Anal. Appl., 292 (2004) 470– 483.
- [3] B. A. Frasin, On certain classes of multivalent analytic functions, J. Inequal. Pure Appl. Math., 6 (4) (2005) 1–11.
- [4] F. Ghanim M. Darus, Some properties on a certain class of meromorphic functions related to Cho-Kwon-Srivastava operator, Asian-European J. Math., 5 (4) (2012), Art. ID 1250052 (9 pages).
- [5] S. P Goyal, J. K. Prajapat, A new class of meromorphic multivalent functions involving certain linear operator, Tamsui Oxford J. Math. Sci., 25 (2) (2009) 167–176.
- [6] I. S. Jack, Functions starlike and convex of order α, J. London Math. Soc.,
 2 (3) (1971) 469–474.

- [7] J. L. Liu, H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, J. Math. Anal. Appl., 259 (2001), 566–581.
- [8] S.S. Miller, P.T. Mocanu, Second order differential inequalities in the complex plane, J. Math. Anal. Appl., 65 (1978), 289–305.
- [9] A. K. Mishra, T. Panigrahi, R. K. Mishra, Subordination and inclusion theorems for subclasses of meromorphic functions with applications to electromagnetic cloaking, Math. Comput. Modelling, 57 (2013), 945–962.
- [10] A. K. Mishra, M. M. Soren, Certain subclasses of multivalent meromorphic functions involving iterations of the Cho-Kwon-Srivastava transform and its combinations, Asian-European J. Math., 7 (4) (2014), (21 pages).
- [11] M. L. Morga, Hadamard product of certain meromorphic univalent functions, J. Math. Anal. Appl., 157 (1991), 10–16.
- [12] J. Patel, N. E. Cho, H. M. Srivastava, Certain subclasses of multivalent functions associated with a family of linear operators, Math. Comput. Modelling, 43 (2006), 320–338.
- [13] J. K. Prajapat, Some sufficient conditions for certain class of analytic and multivalent functions, Southeast Asian Bull. Math, 34 (2010), 357–363.
- [14] R. K. Raina, H. M. Srivastava, A new class of meromorphically multivalent functions with applications of generalized hypergeometric functions, Math. Comput. Modelling, 43 (2006), 350–356.
- [15] Z.-G. Wang, H.-T. Wang, Y. Sun, A class of multivalent non-Bazelevic functions involving the Cho-Kwon-Srivastava operator, Tamsui Oxford J. Math. Sci., 26 (1) (2010), 1–19.
- [16] N. Xu, D. Yang, On starlikeness and close to convexity of certain meromorphic function, J. Korean Soc. Math. Edus. Ser. B, Pure Appl. Math., 10 (2003), 566–581.

Received: July 5, 2017